408 7 BT DY RIS S (T 5 55%)

4

lﬂ%—l)_ _
RECREE
%g—;—3=
(18+9—%)x gz
Mé—%%-=

H - 7

2
Z+
(5

)><

W] =
W | —
N =

1 3
14(= +2)+7 =
(3+3)

W | —

)><

AW

(33+3-

11
56+ 8+ =) x — =
( 2%

| W
~
X
N =
| =

AN =

www.snowmath.com

.



https://www.snowmath.com

408 7 BT DY RIS S (T 5 55%)

(18 +9—

N —

)x

3 1
24(> —=)+8
G35

(S 1\

WD W

H -
2 1 1 1 67
Crpxsts-o
5 3 3 2 90
1 3 17
4=+ =)+7=—=
(4 5) / 10
41
3B+3-2)x = — =
( )*37 12
5
56+ 8+ )% = =2 =
( )xg= 3
6 5 2 2 60

www.snowmath.com

ﬁ]\

.



https://www.snowmath.com

